KEBEAXTAICES

#H E T omie

1BRSHE

e Ti5) FRICUET

(EELTZ) BEL O [[18a] LR NN al TS
ETEE] H24EE  |(31%) HEikAlm gh=e
(ETE] SRORAM Ik (BR) [Heflfr]

(ETHE] 1=12.50m H=2.03m A=26.50m2

[AHg=] 4.19 m3

(EIE] 85 L

(TE2] AT AR gl Ls

(M T 4] H2451-¢f'5F

[s:38) FlRSikER EXxIREE MR

[#Ti5m7) FRJIMET

Tzl (%) EBIE [LFh

[fETRE] 1=39.50m H=2.80m A=116.12m2

[[AH#E] 17.64 m3

[#EITE] EFTL

[T=2) HEDIR/IIR

ml
lH
8]

(ML) H255F

[33E] EJIE

=

[HETIBfT) =B AT

(Er#] () #at

i

A#t

Eﬂﬁ E%HEEPK Y]

E/LN]

[MeT#RtE] 113 L=14.00m H=2.61m A=38.08m2 21 B L=15.00m H=3.18m A=45.17m2

[(k#%E] 13.08 m3 (1+ 8 5.95m3 2+ 8 7.13m3)

(BETi BEL @

[(T=%] BIHO N/ eIl LE

[I4EE) H25FE (:3%)] BikER BME
(T8 ) B Em (fETE)] () —FfIME [BE&h )

[ THE] /= T(A)L=8.21m H=2.4Tm A=20.87m2 (45)L=7.85 H=2.47m A=21.19m2 KA1 TV=25.99m3

kH#E] 1223 m3 GG L72.75m3 #12.60 JKAJL6.84m3)

(RALZ] &L O

[TE2%) BRI RSl L e

(ET4E] H265EE

[538)] AHR—VIRE

EiRERE & EREA KR

(ETiHA) fEm

[ETE] FhEE # :) [EEm]

[ETHE] L=15.50m H=3.57m A=48.75m2

E#i%E] 6.24 m3




(RETx) AT O [[z34] LA aR|I/MREAILTS
UET4#E) H24EE  |(sors) BSEERD HHKE
[T i8] HEALUET (mTH] SREAAHM T3 () [HELET]

[(ETHE] L=12.50m H=2.03m A=26.50m2

(AegE] 419 m3

p




(kaTx) BT @ (TE£] 7AITANNRERLIE

[se:x] LIIRARERD EERER HE5E
TE] () LRI (BFH]

FEI*E*E] L=39.50m H=2.80m A=116.12m2
#H#E] 17.64 m3




(RELx) #RT Q [(T¥4] AEOR/MIRABLTIE
gl LHIRSRER EXERE HB5E

(EIBHR) BERFAA |[[Erx)] (B)FEFKRE [ERET]
[HETHE] 1198 L=14.00m H=2.61m A=38.08m2 21 %
A##E] 13.08 m3 (1+® 595m3 218 7.13m3)

Wi




*
3| |
mmﬁz%m
mE
HL
Z || %
&=
= |5 |
| % | 5@
W | 4| 5
HI®|&
@

1
H|4| &
QW
._:DH%
| M| =
H| | %
| H|H
HIE| 8

25.99m3

21.19m2 KA TV

7.85 H=2.47m A=

8.21m H=2.47m A=20.87m2 ()L
BIA275m3 55265 KA1T6.84m3)

(FETHRE] #EFIT(EL

52,

1 1223 m3 (§

(RMEE




(kAT BET © [(T#4) BFHMR/IRELLTS
(18] AR—VIRGRER ERIRELS HEE

ETE] FHEBG) BEM]

[EIFHHE] L=15.50m H=3.57m A=48.75m2

A+ #E] 6.24 m3




